ACCOUNTING AND FINANCE
Paper -1 (Cost Accounting)

Time Allowed : Three Hours Maximum Marks: 100

' Part-A (9TT—31) (Marks : 20)
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g Part - B (IF1—¥) (Marks : 20)
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| Part - C (F—%) (Marks : 60)
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Part-A(IFI-3) !
What do you understand by costing? #REIIG ¥ SI1q T I &7
What is meant by labour turnover? H Siad A o1 ﬂﬁmﬂ &7
What is meant by overheads? SIREIY | &1 WY &7
By what other name non-infegral System of accounting is known?
IRl orar Rty B SR, e A | ST S 37
5. Give any two characteristics of Integrated Accounting System.
i B Ggh Pl ar R S |
6. - Explain tworéasons for difference in profit as per cost books and
financial books;
AT Rl v T g TeRi @i ¥ SR @ < WS BRI ST |
7. Whatis operating costing method? - :
afeter @ aiRor &y T 87
8. What is Bin Card? fTT &1S &1 87
9. What is abnormal wastage? SRIFIFY & &1 &7
10. Which autonomous body was established for development of cost
accounting at first time in India and in which year it was formed?
&7 TA TR ?

PO

" Part-B(3)
11.  Wages rate Rs. 3 per hour, standard time 6 hours and actual time
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12.

taken 4 hours. Ascertain the amount of bonus and total amount of
wages earned under Rowan Plan.

RIS X %. 3 URrever, w9 W 6 T, IREfiS Ta WY 4
US| 7 T2 B SR TR R AT B ST A B X T B
IIR=AS 1 IRbeH HRT

From the following information, compute machine hour rate in respect
of machine A for the month of January, 2012.

mwﬁmA$Wﬁmﬁ 2012 & o A¥H
HUg <X 96 el

Cost of machine

Rs. 6,000

Estimated scrap value

Rs. 1,000 _

Effective working life

hours 5,000

Hours worked in January, 2012

100

Estimated cost of repairs and'maintenance over the

- life of machine. .
Rs. 1,250 '

Standing charges allécated to this machine for January, 2012 Rs. 50,
power used by thé machine 10 units per hour at a cost of 10 paise per

Unit.
wﬂrmm‘rsﬂwﬁﬁrwm 2012 94 %. 50 81 9909 gRI

i BISgaT 10 PR IREver 10 WA RIFH A A TR

Prepare abnormal effective account from the following :
Transfer from first process 1,000 units @ Rs. 9 per unit
Rs.

,"Material used

13,000

Labour

3,750

Overhead (factory)

. 1,500

Actual output
920 units
Normal loss 10% of input sold at Rs. 2.50 per unit

=i faa<oll & MM 99 Sl SR B
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15.

16.

IO ufpaT ¥ XIFRIRG 1,000 SPEAT X 9 . YR 391% ¢

®.
g ,

13.000

M

3,750

JuRerg ()

1,500

qrdfd®d SR

920 TP . . :
aFT @ o TE Sl &1 10 wReE 92 50 iy s
=1 T ‘ .

What is Memorandum Reconciliation Account? |

R e G o 27 ‘

Give two characteristics of Non-Integrated Accounts.
IR el 1 < il #1 gui BT |

' Part - C(STFI-¥)
o . Unit-1E#=—1)

What are the objects of agood costing system? How does it help the
top management in controlling various costs?

@ awrmammﬁamm%?usﬁwmﬁﬂﬁﬁﬁ
-avﬁﬁwﬁdawmﬁﬁmwmﬁaﬁz? -

OR |
The following is the account of receipts and issues of an item of

storesfor the month of October, 2012:
18, JracE}, 2012 3 fore el B T 78 P Wiy AR TR @

BT 39 TOR &
October 1, 2012
October 5, 2012
October 10,2012
October 13, 2012

Received 100 Units @ Rs. 6 per unit
Received 200 Units @ Rs. 7.50 per unit

Issued 150 Units
Received 100 Units @ Rs. 8 per unit

October 15,2012 Waste (as reported by store verifier) 10 units
October 20, 2012 Received 200 Units @ Rs. 10.04 per unit -

October 25,2012 Issued 250 unit

~ Prepare Stores Ledger :

i
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'« (i) Charging waste as overhead,

(i1) Inflating the price of remaining material on account waste.
Materials are charged to production depariment on the basis
. of weighted average price. '
(i) Sioid @ SURY & WY A A B T,
(i) B Y A A BT e IR §Y -SAYD AR IR FAl
¥ wrrl SaEd Rarl @ wika dea R & smeR ®
=TSl &6 S g |

Unit - 11 (391%—2)
The Manager of a Cooler Manuf acturing concern consults you as
Cost Accountant as to the minimum price at which he éan sell coolers
of the concern which are intended for mass productionin future. The
concern's records show the following particulars'for the year :

wwmmmwmm\ma;mﬁw
W@$aﬁﬁwqﬁm%mw'ﬁé¢w$maﬁw|
oo 3 571 TR T g S SRR, T Y S | e b <l
%Wﬁﬁ%ﬂ?ﬂ'ﬂﬁﬁqﬁmwm‘g;

Production and Sales : 500 Coelers Amm_mt
Materials . 1,20,000
Direct Wages 60,000
Direct Charges 10,000
Works overhead 70,000
Office overhead 28,000
Selling (oyerhead 32,000
Profit \." 48,000

you,ascertain that 50% of the works overhead fiuctuate directly
with’ production and 60% of the selling overhead fluctuate with
{hat the concern would produce 2,500 Coolers

Tt is anticipated |
salesannum and tl;lat direct wages per unit be reduced by 20% while
fixed works overheads charges will increase by Rs. 30,000. Office
overhead and fixed selling overhead charges are expef:ted to show

59 but otherwise no changes are anticipated.
the concern if

an increase of 2 wis
Prepare 2 statement for submission 0 the Manager of
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- 18.

WMW%WW&W@:OM%%M,
wﬁsw@wwﬁmﬁso.oooéaﬁlmmﬁm
AT AR foeht SuRagy H 25 kiR 91 gig &1 IgHH &1 39D

AT Y BIs YREAT B B TFHEAT T8 B |

& A 5T 15 @ 1 98 girera $fRed & it & ey 3 i 1= 4,
e & ¥NoR 31 gAfld $ @ foT 1 Rav-u TR S |
At the end of a year, a Contract Account stands debited with the.cost -
of materials issued, labour and overheads expended and.plant issued,
and it stands credited with materials at site Rs. 2,000.and plant at site
revalued at Rs. 8,000 after charging depreciation‘at 20%. The net
cost of the contract is Rs. 30,000 the materials, labour and overheads
debited to the ‘Contract Account’ are in theyatioof 3:2: 1.

The contract price is Rs. 50,000. 4/5 of the Contract has been certified
by the contractee's architect as complgied, 4 month before the end of .
the year-and 80% of the certified work value has been received in
cash. The accountant informs thah2/3 of the profit on cash basis
credited to profit and loss dccount on the contract is Rs. 8,000.
Prepare in full the Contract Account showing the cost of work done
but uncertified, aid the Work-in-Progress from the above
information. %

o 9 B o Tuw S @ PR e, g 6 T sm g
SoRardt ae i wve & ar § SRie fhar gen € 7 7 |

zeTel QT 6. 2,000 AT ¥Rl WX w@ve S {5 20 iR e

Tt PYY & TeER ®. 8,000 T TFIPa fbam TR, 9
SR/ fm gon ¥ 1 361 3 B g AT 6. 30,000 13 BN B

SR fd T W, S 9 SUR 3:2:1 & Iigaw ¥

361 . 50,000 1 B o 1 8 G Saw P R
X 2g 38 P 4/5 9FT T T g IR X foa & qen Wit
il @51 1 80 TR T T B T ¥ | AR ¥ R
f5 26 3 TR AGT SER W A BT 2/3 T S - T B
Pfee frn T ¥, 6. 8,000 B
@iﬁsﬁnﬁﬁﬁmﬁamﬁmﬁ@ﬁﬁmﬁﬁw%
Gvu} ST | T IE T W SR BT |
| Unit - Il (F91$-3)

_'What is Integrated Accounting? State its advantages.

e
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ThIGd EN 1 €7 §98 oY qaisd |
OR '
Protuct A 'yields by-products X and Y, the joint and subsequent

expenses of manufacture were as follows:

A SIS P I Ufbar § X a1 Ymmmmm%ﬁﬁ
TR WY Td 91X @ Fraior o Pl e

Joint Epenses or - Subsequent expenses or
Pre-separation cost Post/acquisition cost

A XN Y
. Rs: Rs. Rs: Rs.
Materials - 1,12,000 40,000 25,000 13,000
Labour 80,000 42,000 30,000 12,000
Overheads . 90,000 44,000 20,000 10,000
"\.,2,.82000 1,26,000 75000 35,000
Sellirig Pirce > 5,10,000 2,10,000 1,00,000
Estimated profit.on selling price 40% 30% 20%

Show the manneér.in which price the joint expenses of manufacture
are apportioried between the three products.

ﬁwﬁﬁw%mﬁmwa&%%mwﬁh
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